What is 43 divided by 645? Show work. Also what is 21 divided by 2997
Also show work.
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Reminder 1

Paula Pruitt invested $4,334 in the stock market. The investment has declined 7% in value. Determine the worth of the investment now

Crane Companyplanned to use 1 yard of plastic per unit budgeted at $91 ayard. However, the plastic actually cost $90 per yard. The company actually made
4100 units, although it had planned to make only 3300 units. Total yards used for production were 4160. How much is the total materials variance?

Testyour IQIf5+3=289+1=8108+6=2145+4=19Then7+2=7??

10$ for 4 cans of soup ratio and unit rate

"john isadrug dealer who wants to make quick money. john is an example of a"

In your first lab, you will measure the diameter and height of a cylinder. The diameter will be measured with a micrometer and the height will be measured with
avernier caliper. Say you measure a diameter of 5.1+0.0005 cm and a height of 37.6+0.005 cm. What will be the uncertainty in your volume?

X0

5(X + 2X) + 5x

X

Read the sentence below and choose the answer that best restates the sentence: Unfortunately, | misread the notice and misunderstood the deadline for entry. A. |
didn't read the notice correctly and therefore did not understand it correctly. C. | read the notice correctly and still did not understand it. B. | read the notice and
understood it correctly. D. None of the above Please select the best answer from the choices provided A B CD

To make it easier to enter names into your code, NetBeans provides afeature known as

The map shows the muslim empire in 750 ce. Which best sums up the information provided by the map? The muslim empire was the largest empire in the world
in 750. The muslim empire extended across northern africainto europe in 750. Spain tried its best to resist conquest by the muslims. Within ten years, the
muslim empire would reach into france.

How might isolation affect the way a country decel ops economically?

The chemical digestion of food is dependent on awhole range of hydrolase enzymes produced mostly by the cells lining the gut as well as other associated
organs such as the pancreas, salivary glands, stomach, liver and small intestine. The end goal is to break large food molecules into very much smaller building
block units or monomers. These can then be readily absorbed through the into the bloodstream for transport to the liver and from there to other parts of the body.
Enzymes are both pH and temperature specific. Seen here are the reaction rates of three common digestive enzymes. Based on the data, which enzyme(s)
require(s) the addition of HCI for optimum activity?

Who was the first african american nfl player

All of the following European countries sent explorers to the New World EXCEPT: A. Great Britain

B. France

C. Greece

D. Spain

Job satisfaction factors, called , are related to what people do at work.

Which qualities show effectiveness at work? In alast few weeks, Steve has stopped (coordinating, chatting, discussing) with his coworkers during work. He
takes short lunch breaks and is (focused, distracted, asleep) while working.




Why might a story be reinterpreted by another author? (apex)
Y ou take a group of 20 people going to the movies. Kids' tickets cost $ 4.- each, and adultstickets $ 6.- each. Y our total cost is$ 96.- . The number of kidsin
your group is

1. Home
2. More Solution
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